mean # PXL hits vs eta

<pixel hits>

...........

| mean # PXL Layers with measurement vs eta

15

.......

0.5

o+

Rati

=
TT T
i
"
-
¢
[
*

0.95

|
w
N

N [
o 4
o
S35
() C
X C
v 3F

N
[4)
I

N

1.5

...........

...........

mean # STRIP hits V|

—=— DQM_V0001_R000000001__ Global__mkFit100Timeo__RECO

20

—e— DQM_V0001_R000000001__Global

<strip hits>

18
16
14
12
10

...........

__mKkFit100Time__RECO

12

T $9-0--0-"00-9

1

<strip layers>

10

4
2

o000

|
Hl
:

1




	Contents
	Page 1


